
211

RoHS compliant products are also available. 
Please contact LUBE for details.

HEX12
20

9.5
8

M6×1Rc1/8

Model Part Number

SC-6A 106154

Material: C3604

M8×1       

30
18

HEX14
Rc1/8

Model Part Number

SC-4 106174

Material: C3604

HEX10 238 8

2-R1/8 Model Part Number

SCR 106151

Model Part Number L T
SC1-20 106141 20

R1/8

SC1-25 106142 25
SC1-30 106143 30
SC1-40 106144 40
SC1-50 106145 50
SC1-60 106146 60
SC2 206141 20 R1/4

Material: C3604

T  

Rc1/8
HEX14 10

L

HEX14
Rc1/8

M10×1

φ
8.
4

10 2
16

Model Part Number

SC-10A 106177

Material: C3604

*Use with sealing washer

SC

L3 L2

Rc1/8 R1/8

L1

EC Model Part Number L1 L2 L3

EC1-22 106101 22

14 14

EC1-25 106102 25
EC1-30 106103 30
EC1-40 106104 40
EC1-50 106105 50
EC1-60 106106 60
EC1-20 106107 20 12 12

Material: C3604

Model Part Number L
ECC-22 106121 22
ECC-25 106122 25
ECC-30 106123 30
ECC-40 106124 40
ECC-50 106125 50
ECC-60 106126 60

Material: C3604

HEX14 22
12

M8×1

Rc1/8

Model Part Number

SC-8T 106147

Material: C3604

φ5

28.58 9 4.5
HEX10

R1/8 M10×1 Model Part Number

166152

Material: C3604

Connectors   SC . EC . TC

Dimensional drawing Model

1414

R1/8

Rc1/8

45゚

L



212

Tubing P
arts

Model Part Number

PGC-4 619322

Material: C3604

RoHS compliant products are also available. 
Please contact LUBE for details.

14 22
8

M6×1
Rc1/8

14 22
8

M8×1Rc1/8

10

M6×1
T

10
L

2-R1/8
Rc1/8

28

8 8

14

2-Rc1/8
R1/8

14 26
12

This is for pressure gauge.

TC

Model Part Number

EC-6A 106181

Material: C3604

Model Part Number

EC-8A 106182

Material: C3604

Model Part Number

PGC-6 619434

Material: C3604

Model Part Number

TCR 106161

Material: C3604

Model Part Number

TCF 106171

Material: C3604

Model Part Number L T

ECM-5A 106183 6 M5×0.8

ECM-6B 106184 M6×0.75

ECM-6A 106185 M6×1

ECM-6BL 106192 8 M6×0.75

Material: C3604

Dimensional drawing Model

R1/8

Rc1/8

M8×1

30

14 27

M10×1 (φ6 Tubing)

Rc1/8

R1/8

30

29.7


